| xt= 2 |

2008Hx AMtty| 28 M Thijjsig
(&% D/M, %)
o 2008H=(1~6) 20079 =(1~6L) 5
T = * & & bl = & & &4l = & H 2
5 796,805 100.0 778871 100.0 17934 23
= (50,870) (100.0) (56,103) (100.0) (-5233) (-9.3)
A xo 706,412 88.7 686,172 88.1 20,240 29
sre (48.012) (94.4) (52,403) (93.4) (-4,391) (-8.4)
e xo 4,562 0.6 5,520 0.7 -058 -17.4
P
ere (168) 0.3) (168) 0.3)
=
=
19,948 25 20672 29 2724 -12.0
JNEtZ RS
2 (1,855) (36) (2,655) @7 (-800) (-30.1)
N 730,922 918 714,364 97 16,558 23
2 (50,035) (98.3) (55.226) (98.4) (-5,191) (-9.4)
g & o 65,883 82 64,507 83 1376 21
T (835) 17 (877) 16) (~42) 48
706,412 100.0 686,172 100.0 20,240 29
A (48,012) (100.0) (52,403) (100.0) (—4,391) (-8.4)
o 358015 507 335615 489 22,400 6.7
= (21.980) (45.8) (20,975) (40.0) (1,005) (4.8)
=0 93,300 13.2 91,730 13.4 1,570 17
T (22.304) (465) (29,018) (55.4) (-6.714) (-23.1)
S [ 40,944 58 43714 6.4 —2.770 -6.3
HE = (1689) (35) (1.903) 3.6) (-214) “11.2)
= 59,640 84 61348 89 -1,708 28
w FEx
(1203) (2.5) (1203)
_ - 52,350 74 52,060 76 290 0.6
2 =5
T (580) (12) (302) (0.6) (278) (92.1)
I 52,760 75 53,125 77 -365 -0.7
M &= (240) 05) (180) 03) (60) (333)
sto|E =% 9,765 1.4 10,080 1.5 -315 =31
EEH o =&
A oF 21845 3.1 20,970 3.1 875 42
[Me]
—_ 8510 12 8510 12
o A= 9,283 1.3 9,020 1.3 263 29
emET (16) (25) 0.1 -9 (-36.0)






